1. What is an incorrect name for the plane shown?
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Q. What is the distance between the following points:
A(5,-3) & B(7, 4)
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Q. M is the midpoint of segment JL. | has coordinates (2, -1) and M has
coordinates (-4, 3). What are the coordinates of L?
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Q. What are the coordinates of the midpoint of a line segment that connects the
points (7, -3) and (-5, 6)?
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7. If two lines intersect, they intersect in a

O line O plane
@ point O ray




Q. If two planes intersect, the intersection is a

answer choices

point plane
D line arc
liae



10. Ray EA and Ray EB are opposite rays

B

O True &) False



14. Find x.




17. A statement accepted as true without proofis a

(O Theorem (O Definition

@ Postulate O Hypothesis



18. Find the perimeter of CABC.
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21. D is the dfiidpoint of EF.
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22. Find the slope of the line that passes through the
points (2, 4) and (6, 12)
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24. What is the equation of a Iin the

following line that passes through the given point?

M= -4 ys@Ax+6  (2,-1)

O y=1/4x+6 @ y=-d4x+7

O y -4x + 2 O y=1/4x-1

= —1=-4(x- ;2)
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25. What is the equation of a line that is

to this line and goes through the given point?
y=3x+2 (3,-4)

O y=3x-2 O y=-13x-5

O y=3x-4 & y=-13x-3
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26. Are these two lines parallel, perpendicular or
neither? |'
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27. Use the equations given to determine if the
following lines are parallel, perpendicular, neither or

both. = v_}l

y=dx-2
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O parallel €D perpendicular

(O neither parallel nor () both parallel and
perpendicular perpendicular



31. When copying line segment AB using a straight
edge and a compass, the compass should be used to:

® &
A B

O Drawanarcabove 48 Measure the length
point A of segment AB

(O Draw an arc between () Measure half the
point A and point B length of line segment AB



32. What is being constructed in the figure?

m =

X

(O the perpendicular
bisector of line m

(O theline parallel to
line m through a point
NOT on the line

—e—te

@ theline
perpendicular to line m
through a point on the
line

Q anangle that has line
m as its bisector
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36. Find PQ




